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H1ETMY triple hang mode frequencies
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H1ETMY percent error in mode frequencies between model and measurement before fit

w D o1 (o)} ~

Magnitude of percent error

N

== [ree quad
=&=Triple hang
=8=Double hang
=&=Single hang

A

r‘ *
5 1IO 1|5

Mode number

20

N

GaussNewton_fit v2_H1ETMY on 14-Feb-2014

m created by QuadPend



1.4 | | . .
3 == [ree quad
=&=Triple hang
1.2 ) == Double hangH
=e=Single hang

S Ape e -

o

=

]

08 -

)

o

©

o6\l L l

=

[=

&

so4- \N/7/\4% ¢+ K A NN IV _
02k ™"  I\N WNa [T ANV \) v JINT .

OO 5 10 15 20

H1ETMY percent error in mode frequencies between model and measurement after fit

ated by QuadPend_GaussNewton_fit v2_H1ETMY on 14-Feb-2014

Mode number

N
m cre:



10°

)
O
=
£ 10
(@)
M
=
S
L
X
o
S 10
o
i

10

I I

<

—

o
........................................................................................................................ &

Q

[

+

T

—

0 3

o

>-
...................................................................................................................... o]
....................................................................................................................... ...

w
........................................................................... L I -

II
......................................................................................................................... oo

>
......................................................................................................................... Sl

|
.......................................................................................................................... S e

. o

=
.......................................................................................................................... Q..

b4

. wn

[%]

35
.......................................................................................................................... S ]

. (DI

kel

c

(3]

. o
......................................................................................................................... i -

©

p=l

. (04

>

Qo

e}

‘ 3

-1 5

l | l 8

1000*Err(1) = 35.1445, 1000*Err(17) = 0.7453.

Ilteration Number



